

5.4 Ex. 5 FACTOR COMPLETELY

$$a.) \quad 4x^3 + 14x^2 + 6x$$

$$2x(2x^2 + 7x + 3)$$

$$2x[(2x^2 + 1x) + (6x + 3)]$$

$$2x[x(2x+1) + 3(2x+1)]$$

$$2x[(2x+1)(x+3)]$$

$$2x(2x+1)(x+3)$$

$$ac = (2)(3) = 6$$

$$\begin{array}{cc} 1 & 6 \\ 2 & 3 \end{array}$$

$$b) \quad 12x^2y + 6xy + 6y$$

$$6y \left[\underbrace{2x^2 + x + 1}_{\text{NOT FACTORABLE}} \right]$$

$$ac = (2)(1) = 2$$

1 2

NOT FACTORABLE

5.5 DIFFERENCE AND SUM OF CUBES

$$\begin{aligned} a^2 - b^2 &= (a+b)(a-b) && \text{"DIFFERENCE OF SQUARES"} \\ a^2 + 2ab + b^2 &= (a+b)^2 \\ a^2 - 2ab + b^2 &= (a-b)^2 \end{aligned} \left. \vphantom{\begin{aligned} a^2 - b^2 \\ a^2 + 2ab + b^2 \\ a^2 - 2ab + b^2 \end{aligned}} \right\} \text{"PERFECT SQUARE TRINOMIALS"}$$

$$\begin{aligned} a^3 - b^3 &= (a-b)(a^2 + ab + b^2) && \text{"DIFFERENCE OF CUBES"} \\ a^3 + b^3 &= (a+b)(a^2 - ab + b^2) && \text{"SUM OF CUBES"} \end{aligned}$$

$$(a-b)(a^2+ab+b^2)$$

$$a^3 + \cancel{a^2b} + \cancel{ab^2} - \cancel{a^2b} - \cancel{ab^2} - b^3$$

$$a^3 - b^3$$

$$(a+b)(a^2-ab+b^2)$$

$$a^3 - \cancel{a^2b} + \cancel{ab^2} + \cancel{a^2b} - \cancel{ab^2} + b^3$$

$$a^3 + b^3$$

Ex. 1

$$a^3 - b^3 = (a - b)(a^2 + ab + b^2)$$

$$a) w^3 - 8 = (w - 2)(w^2 + 2w + 4)$$

$$a^3 + b^3 = (a + b)(a^2 - ab + b^2)$$

$$b) x^3 + 1 = (x + 1)(x^2 - x + 1)$$

$$c) 8y^3 - 27 = (2y - 3)(4y^2 + 6y + 9)$$

Ex. 2

$$a.) \quad x^4 - 16 = x^4 - 2^4 = (x^2)^2 - (2^2)^2$$

$$= (x^2 + 4)(x^2 - 4)$$

$$x^4 - \cancel{4x^2} + \cancel{4x^2} - 16 = x^4 - 16$$

$$= (x^2 + 4)(x + 2)(x - 2)$$

$$a^4 - b^4 = (a^2 + b^2)(a + b)(a - b)$$

$$b.) \quad (81m^4) - (n^4) = (9m^2 + n^2)(\underline{\underline{9m^2 - n^2}})$$

$$(9m^2 + n^2)(3m - n)(3m + n)$$

Ex. 3

a.) $2a^2b - 24ab + 72b$

$$2b[a^2 - 12a + 36]$$

$$2b(a-6)(a-6)$$

$$2b(a-6)^2$$

b.) $3x^3 + 6x^2 - 75x - 150$

$$3[(x^3 + 2x^2)(-25x - 50)]$$

$$3[x^2(x+2) + -25(x+2)]$$

$$3(x+2)(x^2 - 25)$$

$$3(x+2)(x+5)(x-5)$$

$$\begin{aligned}
 c.) \quad & -3x^4 - 15x^3 + 72x^2 \\
 & -3x^2 [x^2 + 5x - 24] \\
 & -3x^2 (x-3)(x+8)
 \end{aligned}$$

$$\begin{aligned}
 d.) \quad & 60y^3 - 85y^2 - 25y \\
 & 5y [12y^2 - 17y - 5] \\
 & 5y [(12y^2 + 3y) + (-20y - 5)] \\
 & 5y [3y(4y+1) + -5(4y+1)] \\
 & 5y (4y+1)(3y-5)
 \end{aligned}$$

$$ac = (12)(-5) = -60$$

$$1 - 60$$

$$2 - 30$$

$$\underline{3 - 20}$$

$$4 - 15$$

$$5 - 12$$

$$6 - 10$$

5.6 SOLVING QUADRATIC EQUATIONS BY FACTORING

$$ax^2 + bx + c = 0$$

"GENERAL FORM OF
A QUADRATIC EQN."

'SOLVING' MEANS FINDING THE x VALUES
THAT MAKE THIS TRUE.

ZERO FACTOR PROPERTY

IF $ab=0$, THEN $a=0$ OR $b=0$.

Ex. 1

$$x^2 + x - 6 = 0$$

$$(x+3)(x-2) = 0$$

$$x + \underline{3} = 0$$

$$\underline{-3}$$

$$x = -3$$

$$x - \underline{2} = 0$$

$$\underline{+2}$$

$$x = 2$$

$$(-3)^2 + (-3) - 6 = 0?$$

$$9 - 3 - 6 = 0?$$

$$0 = 0 \checkmark$$

$$(2)^2 + (2) - 6 = 0?$$

$$4 + 2 - 6 = 0?$$

$$0 = 0 \checkmark$$

Ex. 2

$$3x^2 = -3x$$

$$\begin{array}{r} +3x \\ \hline \end{array} \quad \begin{array}{r} +3x \\ \hline \end{array}$$

$$3x^2 + 3x = 0$$

$$3x(x+1) = 0$$

$$\begin{array}{r} 3x = 0 \\ \hline 3 \end{array}$$

$$x = 0$$

$$\begin{array}{r} x+1 = 0 \\ \hline -1 \end{array}$$

$$x = -1$$

$$3(0)(0+1) = 0?$$

$$0 = 0 \checkmark$$

$$3(-1)(-1+1) = 0?$$

$$-3(0) = 0?$$

$$0 = 0 \checkmark$$

Ex. 3

$$(2x+1)(x-1) = 14$$

$$2x^2 - x - 1 = \frac{14}{-14}$$

$$2x^2 - x - 15 = 0$$

$$(2x^2 - 6x) + (5x - 15) = 0$$

$$2x(x-3) + 5(x-3) = 0$$

$$(2x+5)(x-3) = 0$$

$$ac = (2)(-15) = -30$$

$$1 \quad -30$$

$$2 \quad -15$$

$$3 \quad -10$$

$$5 \quad -6$$

$$2x + \frac{5}{2} = 0$$

$$\frac{2x}{2} = \frac{-5}{2}$$

$$x = -\frac{5}{2}$$

$$x - 3 = 0$$

$$x = 3$$

Ex. 4

$$5x^2 - 30x + 45 = 0$$

$$\cancel{5}(x^2 - 6x + 9) = \cancel{0} \cancel{5}$$

$$x^2 - 6x + 9 = 0$$

$$\sqrt{(x-3)^2} = \sqrt{0}$$

$$x - 3 = 0$$

$$x = 3$$

Ex. 5

$$(2x^3 - x^2) + (8x + 4) = 0$$

$$x^2(2x-1) + -4(2x-1) = 0$$

$$(2x-1)(x^2-4) = 0$$

$$(2x-1)(x+2)(x-2) = 0$$

$$2x-1=0 \quad x+2=0 \quad x-2=0$$

$$x = \frac{1}{2}$$

$$x = -2$$

$$x = 2$$

Ex. 6

$$a.) \left[\frac{1}{12}x^2 + \frac{1}{6}x - 2 = 0 \right] 12$$

$$x^2 + 2x - 24 = 0$$

$$(x+6)(x-4) = 0$$

$$x = -6 \quad x = 4$$

$$b.) \left[0.02x^2 - 0.19x - 0.1 = 0 \right] 100$$

$$2x^2 - 19x - 10 = 0$$